PREPIŠI V ZVEZEK:
VAJA

1.  Ob vsakem ulomku nariši celoto in pobarvaj ustrezen del celote. 

	 
	

	




	



	




	



	

 


	





2. Izračunaj.


 od 30 = ________, ker je__________________________________


 od 63 = ________, ker je__________________________________


 od 45 = ________, ker je__________________________________


 od ____ = 18, ker je__________________________________


 od ____ = 24, ker je__________________________________


 od ____ = 24, ker je__________________________________








REŠITVE:


1.  Ob vsakem ulomku nariši celoto in pobarvaj ustrezen del celote. 
Primeri:

	
	

	



    

	
	
	

	
	

	
	






	



	
	
	
	
	
	
	
	
	
	





	


	
	
	
	




	

 
	
	
	
	

	
	
	
	





	


	
	
	






2. Izračunaj.


 od 30 = 25 , ker je 30 : 6 ∙ 5 = 25


 od 63 = 49 , ker je 63 : 9 ∙ 7 = 49


 od 45 = 27 , ker je 45 : 5 ∙ 3 = 27


 od 30 = 18, ker je 18 : 3 ∙ 5 = 30


 od 36 = 24, ker je 24 : 2 ∙ 3 = 36


 od 32 = 24, ker je 24 : 6 ∙ 8 = 32
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